
𝑨𝑰𝑷𝑬 = 𝟑𝟑. 𝟒 𝒄𝒎𝟐 

𝑰𝒙 = 𝟐𝟕𝟕𝟎 𝒄𝒎𝟒 

𝑰𝒚 = 𝟐𝟎𝟓 𝒄𝒎𝟒 

𝑨𝑷𝑳𝟏𝟐𝟎𝑿𝟏𝟎 = 𝟏𝟐 𝒄𝒎𝟐 

𝑨𝑷𝑳𝟖𝟎𝑿𝟖 = 𝟔. 𝟒 𝒄𝒎𝟐 

𝐱ˉ =
∑𝑨𝒊 𝐱ˉ𝒊

∑𝑨𝒊
   

(𝟑𝟑.𝟒×𝟎)+(𝟏𝟐×𝟎.𝟕𝟗𝟓)+(𝟔.𝟒×𝟎)

(𝟑𝟑.𝟒+𝟏𝟐+𝟔.𝟒)
= 𝟎. 𝟏𝟖𝟒𝒄𝒎   

ȳ =
∑𝑨𝒊 ȳ𝒊

∑𝑨𝒊
   

(𝟑𝟑.𝟒×𝟏𝟏)+(𝟏𝟐×𝟏𝟏)+(𝟔.𝟒×𝟐𝟐.𝟒)

(𝟑𝟑.𝟒+𝟏𝟐+𝟔.𝟒)
= 𝟏𝟐. 𝟒𝟎𝟖𝒄𝒎     

 تار خنثی-1

𝑰𝒙 =
𝒃𝒉𝟑

𝟏𝟐
+ 𝑨𝒅𝟐   (𝟐𝟕𝟕𝟎 + (𝟑𝟑. 𝟒 × 𝟏. 𝟒𝟎𝟖𝟐)) + (

𝟏 × 𝟏𝟐𝟑

𝟏𝟐
+ (𝟏𝟐 × 𝟏. 𝟒𝟎𝟖𝟐)) + (

𝟖 × 𝟎. 𝟖𝟑

𝟏𝟐
+ (𝟔. 𝟒 × 𝟗. 𝟗𝟗𝟐𝟐)) = 𝟑𝟔𝟒𝟑. 𝟑𝟐𝒄𝒎𝟒 

𝑰𝒚 =
𝒉𝒃𝟑

𝟏𝟐
+ 𝑨𝒅𝟐   (𝟐𝟎𝟓) + (

𝟏𝟐 × 𝟏𝟑

𝟏𝟐
+ (𝟏𝟐 × 𝟎. 𝟕𝟗𝟓𝟐)) + (

𝟎. 𝟖 × 𝟖𝟑

𝟏𝟐
) = 𝟐𝟒𝟔. 𝟕𝟐𝒄𝒎𝟒 

 ممان اینرسی-2

𝑺𝒙𝒕 =
𝑰𝒙

𝑪𝒙𝒕
  

𝟑𝟔𝟒𝟑.𝟑𝟐

𝟏𝟎.𝟑𝟗𝟐
= 𝟑𝟓𝟎. 𝟓𝟗𝒄𝒎𝟑                    𝑺𝒙𝒃 =

𝑰𝒙

𝑪𝒙𝒃
  

𝟑𝟔𝟒𝟑.𝟑𝟐

𝟏𝟐.𝟒𝟎𝟖
= 𝟐𝟗𝟑. 𝟔𝟑𝒄𝒎𝟑   

𝑺𝒚𝑳 =
𝑰𝒚

𝑪𝒚𝑳
  

𝟐𝟒𝟔.𝟕𝟐

𝟓.𝟔𝟖𝟒
= 𝟒𝟑. 𝟒𝟏𝒄𝒎𝟑                         𝑺𝒚𝑹 =

𝑰𝒚

𝑪𝒚𝑹
  

𝟐𝟒𝟔.𝟕𝟐

𝟓.𝟑𝟏𝟔
= 𝟒𝟔. 𝟒𝟏𝒄𝒎𝟑 

 

 اساس مقطع-3

𝒓𝒙 = √
𝑰𝒙

𝑨
  √

𝟑𝟔𝟒𝟑.𝟑𝟐

𝟓𝟏.𝟖𝟎
= 𝟖. 𝟑𝟖𝒄𝒎                    𝒓𝒚 = √

𝑰𝒚

𝑨
  √

𝟐𝟒𝟔.𝟕𝟐

𝟓𝟏.𝟖𝟎
= 𝟐. 𝟏𝟖𝒄𝒎          

       

 شعاع ژیراسیون-4

𝝀 =
𝑳

𝒓𝒎𝒊𝒏
 لاغری-5              
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